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QUESTION 1

Your company has two business units: BU1 and BU2. Each has a warehouse associated with it: W1 and W2,
respectively. W1 has transferred the required material to W2 along with an intercompany invoice. On receiving the
material, W2 finds that the material has a defect, and decides to scrap it in its warehouse, which is more cost-effective
than sending it back to W1. But BU2 wants a credit from BU1 against the invoice amount that is already paid to BU1
because the material was defective and not consumed. 

What action would you need to take to address this business requirement? 

A. Deselect the check box "Physical Material Return Required" in the Create Financial Orchestration Flow user interface
under Financial Orchestration. 

B. Perform Accounting only Return against the transfer order by using the Manage Returns user interface. 

C. Perform a spreadsheet upload of the transfer order of type Accounting only Return from W2 to W1. 

D. Create an accounting rule in the Create Documentation and Accounting Rule user interface under Financial
Orchestration. 

Correct Answer: B 

Physical Material Return Required is available in manage returns and used for accounting only 

 

QUESTION 2

You want to decrease the implementation time for Order Management by using the Quick Start feature. Select the
accurate list of four areas that you can configure by using the Quick Start feature. 

A. Objects in receiving, objects in advanced fulfillment, default pick release attributes for the shipping parameters of
inventory facilities, and orchestration process for shipping and returning an order 

B. Default general shipping parameters, objects in order management parameters, default pick release attributes for the
shipping parameters of inventory facilities, and orchestration process for shipping and returning an order 

C. Default general shipping parameters, objects in order management parameters, objects in advanced fulfillment, and
orchestration process for shipping and returning an order 

D. Objects in advanced fulfillment, default pick release attributes for the shipping parameters of inventory facilities,
objects in receiving, objects in order management parameters 

E. Default general shipping parameters, objects in receiving, default pick release attributes for the shipping parameters
of inventory facilities, and orchestration process for shipping and returning an order 

Correct Answer: D 

 

QUESTION 3

You are in the process of setting up a constraint that prohibits update to an extensible flexfield in a fulfillment line if Ship
From Warehouse is X and the fulfillment line is booked. You are able to see the extensible flexfield on the "Manage
Constraint Entities" page but not on the "Manage Processing Constraints" page. 

1Z0-1077-22 PDF Dumps | 1Z0-1077-22 VCE Dumps | 1Z0-1077-22 Braindumps                                2 / 4

https://www.passapply.com/1z0-1077-22.html
https://www.passapply.com/1z0-1077-22.html
https://www.passapply.com/1z0-1077-22.html


https://www.passapply.com/1z0-1077-22.html
2024 Latest passapply 1Z0-1077-22 PDF and VCE dumps Download

What could be the reason? 

A. The "generate packages" program was not submitted. 

B. The "Publish extensible flexfield" process was not run. 

C. The extensible flexfield is not enabled. 

D. A "Record Set" needs to be created for the extensible flexfield to be visible on the "Manage Processing Constraints"
page. 

Correct Answer: D 

A record set is a group of records that are bound by common attribute values for the purpose of constraint evaluation.
You can define conditions and specify a record set to be validated for a given condition as defined by the validation
template. 

 

QUESTION 4

Your company is a manufacturer and distributor of CTO type of products globally, and uses Global Order Promising to
promise its orders. You recently noticed that the promising results are determining the expected sources globally but not
the least-cost ones. You want to understand the logic used by the GOP engine to derive the least-cost source. 

Identify the four cost elements used by the cloud Global Order Promising engine to achieve the Profitable-to-Promise
objective? (Choose four.) 

A. Cost of internal transfers between organizations 

B. Storage Cost (when the cost of holding that item in inventory is high) 

C. Overhead Cost 

D. Resource Consumption Cost (in case the end item is to be manufactured) 

E. Component Cost 

F. Standard Cost at internal organizations 

Correct Answer: ADEF 

 

 

QUESTION 5

Your company is implementing Order Management Cloud to manage the sales orders but fulfillment happens through
third party logistics (3PL). What process should be executed to communicate to the 3PL system that the sales orders
are ready to pick release and ship? 

A. Manage Shipments Interface 

B. Create Shipments 

C. Confirm Shipments 
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D. Generate Shipments Request 

E. Send Shipments Advice 

Correct Answer: D 

References: http://docs.oracle.com/cloud/latest/scmcs_gs/FAIMS/FAIMS1796462.htm#FAIMS2605728 
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